SAIAST

¢ TRANSMISSION

& &

e QUALITY
a &
* SERVICE
ik 55

LB IEEEINRXEIRAS

ZHEJIANG SAIYA INTELLIGENT TRANSMISSION TECHNOLOGY CO.,LTD

Eiirpd: IIERMT EEERGE100 SHRER2E

22™ FLOOR, WINNING INTERNATIONAL , NO.100, MINXIN ROAD,
SHANG CHENG DISTRICT, HANGZHOU CITY, ZHEJIANG PROVINCE.

SAIYA=TT

PLANETARY GEARBOX

TERES ~a=n
CATALOGUE
2023kR

IR IEREEINRXEIRAS

ZHEJIANG SAIYA INTELLIGENT TRANSMISSION TECHNOLOGY CO., LTD



A IR ERMERIRRBIRATHIIT2011E, B—REHE. £REEL—FNEREAT Pl -----------------------------------------------------------------------------------------------
anetary Gearbox Seris

W, AFEE.: BETEREN. ZEREGEREL. NBURERE. EiRERIFITTRIEBNE e o y

NET=QUHERUAIEIENILS, HERATFTWHEA, W, SR, LR, TS | fTERIESS R

SI N c E VS, UReR. 8%, $8, BF. ErETHWmEE,

BEWARERLIEFASE. LIFRA0. LIRSARENES, BNAEFRIMmscHIEaH

2 0 0 6 ARAEMIRS, CEEY. TeENTIERE,
. Founded in 2011, Zhejiang Saiya Intelligent Transmission Technology Co.,Ltd is a national b bed il

hi-tech enterprise which integrates R&D, production and sale. Our company is specializing

g gE {g Ej] : in producing|precision planetary gear box, ac/dc gear motor, small gear motor, dc brushed ,
= Ay M 0, =
: FEEZFRITERIRSE. SN

and brushless gear motor, etc.

Depending on differentiated and high cost performance advantage, Our products are widely L mﬁﬁ%ﬁﬁﬁr ii
used in the field of industrial robot, intelligent logistics,photovottaic, machine tool, etc. Classical economic planetary
ﬁﬁﬂanﬂn ﬁ:ﬁ Meanwhile, our products are also used in food euipment, packing euipment, textile gearbox.This gearbox can be
HIGH PRODUCT QUALITY equipemnt, electronics equipment and medical equipment, etc. Widely used indiﬁerent area. At
QOur company always adheres to the business philosophy of customer oriented, product the same 'ti‘me it .iS Withhigh qua"ty
ta@yl] — Hg BE% centered, and service oriented, makes great efforts to provide customers with leading & competitive price. "
CONSISTENT SERVICE transmission technology and services, and creates efficient and energy saving working 17
environment. g
s
gg
SPBRIIF LI TERIEES . KA P
SHRLENE, FEHHDK. RS, =
fEFAERS 5
SPB helical planetary gearbox.
ek & Adopt dualsupporting structure
: SERVICE for output shaft, withhigh torque,
v BWRIERIRS d " S
> low noise and working life ismuch
; longer.

*m &
i QUALITY
D BRI —RIE

o (& &

VREUHESEE
| TRANSMISSION

| SRR E R VREI S Z R RIRRE . BiEEE
, FEERAWERTIE

VR serles high precision _
planetary gearbox.standard -
type,precision type and

highprecision type optional. A

N -

5




Planetary Gearbox Selection Table Product Structure
TR R P R

HREEREAE(ER Selection of basic information need

I InE Project #84% Indicators 2% Parameter
1.8B#1{S8 The motor information
EHES Motor model (1)

EBHLINER Motor power (2)
EBH4E1E Motor speed (2)
2 TR RIENAZER Claim to the planetary reducer
IRiELL Ratio (3) 3~512
e Backlash (4) iR EE Standard or Precidion
{#5F3#A4E Usage togue (5) <#iEiHsERated torque

TEHAEES Planteary gearbox frame code (6)
IR FE IS Gearboxes code

&[7 Permitted radial load tuEEnyEE X Standard or custom
B Permitted axial load #rfEE B E M Standard or custom

3.I{EIRIE The work environment
BoMIEREERE CW&CCW rotation per minute frEsk B E X Standard or custom

i 65 (2 bk L D

TERERE ffEs BE Y Standard or custom
Working environment temperature trEStandard(—-25~+90) T
F5#P54R Protection grade trfEStandard IP54(SP/SF),IP65(HAB)

4. BETERIENLES Determine the planetary reduction model number

TERENES (7)
Planetary reduction model number (7)

(1) . BFE9RIETHIRRT, EHESRELSNARTHTE.
(2) . IRIEEFBNSER RRREE, thERTERRAETHE.
(3) : JmimEtb=n1/n2, EFAEREELLATHEFRATELLER.
(4) : IRIEERAERME.

L . .
(5) : REEBNEERES MRENEREE SIS MEEEREE, BIREREESTRRNRIS, 1 RAENETER 1.Integral double wall planet pinion carrier
(6) . RIEZEARNRME, BETUSEERINERTE.
(7) : BB EABETRERENNEHES, 2.5 2.Bearing for the output shaft

3. IE= 3.Steel output flange
(1) : Forchecking motor output dimensions,make it matching gearbox’s input. 4_{?‘1&5(:@_@%% 4.Integra| fisiras gear housing

(2) : Toselect the gearbox according to the motor power form. Also used to calculate the output torque.

(3) : Gearratio=n1/n2, if the required ratio is not available, you can select the nearest one.

5/7E% 5.Planetary wheel

(4) : According to the requirement of use.

(5) : Toselect the gearbox according to the output torque requirement of the equipment and motor shaft diameter.
(6) : Toselect the gearbox according to the assembly way. 6.KR% 6.Sun wheel

(7) : The gearbox can be selcted according to the above information .

7 EINEE 7.Bearing for the input shaft

8. B BT IR 8.Integral hoop clamp coupling

Q. ERN E R A= 9.Back cover




P Series Planetary Gearbox

| FERE SR EPRS

® = RE PRODUCTS

SPE SPB SPF

BY = 9% SIGNAL DECOMPOSITION

80 SPF 40 K

® @ ®

80mm Gearbox external diameter 80mm

SPB : FHAFRF
SPB : Helical Gearbox

® R

SPE : ElfzHItHiE=
SPE : Round output flange
SPF : FRZAEIHIE=
BiEERTKE SPF : Square output flange
Gearbox series code WSPE : B ABRE=E
WSPE : Right angle round output flange

WSPF : ERHIASHZE=S
WSPF : Right angle square output flange

SPs : SRR
SPS : High stiffness series

88453,4,5,8,10
Single stage  3,4,5,8,10

#£49,12,15,16,20,25,32,40,64
Twostage  9,12,15,16,20,25,32,40,64

=%:60,80,100,120,160,200,256,320,516
Threestage  60,80,100,120,160,200,256,320,516

@ Gear ratio

@ HhiFESEB!  Bearing type K : i@SEkimFR Ball bearing

SPE/SPF  RFUiRfAIRMBHINFEREER (WAEEB3000rpm )

SPE/SPF Series Gearbox Selection Form According To the
Power of Servo Motor

Thee SPE/SPF60——i#th(2) | SPE/SPF80—-i%tY(2) SPE/SPF120——kL(2) SPE/SPF160——i&k(2)
Power SPE/SPF60-Ratia2) SPE/SPF80-Ratio(2) SPE/SPF120-Ratio(2) SPE/SPF160-Ratio(2)
50W 64. 160. 200. 256
3. 4. 5.8.10. 9. 12. | 64. 160. 200. 256. 320
100W 16 16. 20. 25, 32.
40. 60. 80. 100, 120
3. 4. 5. 8. 10. 9. 12, | 80. 100. 120. 160
200W 15, 16. 20. 25. 32.
40. 60
3. 4. 5. 8.10. 9. 12, | 32. 40. 60. 80 64. 100, 120, 160
400W 15. 16, 20, 25
(3.4.5.9. 12, 16) | 3. 4. 5.8, 10. 9. 12. | 60. 80. 100 64. 120. 160. 200. 256
750W 15, 16. 20, 25. 32, 40
(3. 4. 5.8, 10, 9. 12, | 3, 4, 5. 8. 10, 9. 12, 64, 80, 100. 120. 160,
1000W 15. 16. 20. 25, 32) 15, 16. 25. 32. 40. 60 | 200. 256
(3 A B B 10, 6 12| & 4 5 6 96, 2 42, 64. 60. 80. 100. 120. 160
1500W 15, 16. 20) 15. 16, 25. 32. 40
3, 4. 5,8.10. 9. 12,  |40. 60, 80, 100
2000W 15, 16. 20. 25, 32
3. 4. 5. 8,9, 12. 15,  [(3. 4. 5. 8. 10. 9. 12, 15,
2500W 16, 20. 25 16, 25) 32, 40. 60, 80. 100
(3. 4.5.8.9, 12, 15, |3. 4. 5. 8, 10. 9, 12. 15,
3000W 16, 20) 16, 25, 32, 40. 60, 80
(8, 4, B 6. 8, B 18, |8 4 B 8, 10, 6 12, 15,
3500W 16) 16. 20. 25. 32, 40, 60
3. 4. 5, 8, 10, 9. 12, 15,
A 16. 20. 25. 32. 40
B Al B B 100, 8 12, 18,
5500W 16. 20. 25. 32. 40
3. 4. 5. 8, 10. 9., 12. 15,
7500W 16. 20. 25

(1) WgEF “ ()7 FRisEt,
(2) . BUENGER <AEMEHER, TiEEERNEFRELIEL .
(1) . “ ()7 is second-choice ratio
(2) . When Gearbox’ operation torque <Rated torque,select the ratio accordingly in same frame.

RIS EBAEEERE, WFFFEEInput shaft range:

RN E ) Plantary gearbox series

SPE/SPF SPE/SPF 60 SPE/SPF 80

SPE/SPF 120 SPE/SPF 160

EBH4H{2 Motor shaft dianeter

mm 6=d=19

8=d=22

14<d=<35 19=d=42




SP R HITERIERR SP R BT ERERR

SP Series Planetary Gearbox SP Series Planetary Gearbox

B EAEHE TECHNICAL INFORMATION

0 0
: e e e e P ey preey
= =
E 0.031| 0.135 0.77 263 1214 3 E
3 0.022 0.093 0.52 1.79 7.78 4 3
o 0.019 0.078 0.45 1.53 6.07 5 1 o)
= 0017] 0065 039 132] 463 8 >
8 0.015 0.054 0.34 1.14 3.52 10 8
> 0.030 [0} 1 25 0.74 2.62 25l 9 =
0.029 0.127 0.72 2.56 12.37 12
0.023 0.077 0.71 25 {255 5
0.022 0.088 0.50 1.75 747 16
B #AEE  TECHNICAL INFORMATION —— e 0.4 i T > 5
?i. Intertia 0.017 0.064 0.39 {23 4.5 32 ?i.
E 4.5 12 40 80 400 3 0.016 0.064 0.39 13 4.5 40 E
m 6 16 50 100 450 4 0.016 0.064 0.39 i) 4.5 64 ;ﬁﬁ
E 6 16 50 110 450 5 1 0.029 0.13 0.70 2.57 12.1 60 E
ﬁg 5 15 45 120 450 8 0.019 0.075 0.50 15 5.81 80 Eg
5 16 45 120 305 10 0.019 0.075 0.44 1.49 5.8 100
16.5 44 110 210 400 9 0.029 0.13 0.70 255 25l 120
18 44 120 260 800 12 0.016 0.064 0.39 13 4.5 160 g
18 40 110 230 700 15 0.016 0.064 0.39 L&} 4.5 200
20 44 120 260 800 16 0.016 0.064 0.39 1:3 4.5 256
e 20 44 120 260 800 20 2 0.016 0.064 0.39 (k3 qt5 320
Rt Gt i 18 40 110 230 700 25 0.016] 0.064]  0.39 13 45 512
Tormus 20 44 120 260 800 )
18 40 110 230 700 40
20 44 120 260 800 60 }&55% Percision <5 =<3 =3 =3 =3 g
20 a4 120 260 800 30 ftE Standard <10 =8 =8 =8 =8
20 44 120 260 800 100 EEER | s 3 Percision <8 =l =i =i; i
18 40 110 230 700 120 Backlash | arcmin #7# Standard <12 <10 <10 <10 <10 €
20 44 120 260 800 160 3 ¥55 Percision =10 =8 =8 <=8 =8 g
18 40 110 230 700 200 izt Standard <15 <12 <12 <12 <12
20 44 120 260 800 256
75 18 50 120 450 512
96 1
HEMEE Full load efficiency(%) 94 ?
90 3
iR Torsional stiffness 0.7 1.8 4.5 12 38 0.4 0.9 2K 6 18 i
%5 Noise Level 55 58 60 65 70 8 Net weight(Kg) 0.5 il 2.6 8 22 2
e AFEIE Max Input speed (rpm) 10000 8000 6000 6000 6000 0.6 il S5l a5 29 3
#EZ 41\ 46 Recommend Input speed (rpm) 4500 4000 4000 4000 3000
ERAFR[A Max ratial torque(N) 160 340 650 1500 4200 fERFd Working Life 20,000 hours
ERAHE ] Max axial torque(N) 160 450 900 2100 6000 R =t
T{FRE Operating temperature -25C~90°C Instant stop torque B R
FPEL 1P P54 B4/ IVIax axial Torqueling Tou| 40U YUy 10| buULU
@@=l Lubrication #£5i8;8 Life time lubrication T{EiRE Operating temperature -25C~90C
¥, Mount type Any direction (FiPZER 1P IP54
i@ig sk Lubrication £ 588 Life time lubrication
L2475, Mount type Any direction




40SPE/SPF&5I/MERTE 60SPEZEFMERTHE
40SPE/SPF Series Dimensions 60SPE Series Dimensions

=
; . - 60X60 e
— —
g = 2 * 4546 Il.s 25 %
~= | 2.5 i =
= [P S i = | ——yan o)
o| o B o ~ g OE Kz 77 " A
E 16 35 § £¢_ __j @_ = ;Ii_ T EI E \/é/g’;:J = %
S = 1 ey e | I 305 " ‘@.I/fEE =
o A
= o1 —— 1L : | g =
1 2 -
30.5
24< Total length 1-Stage 2-Stage 3-Stage
21 Total length 1-Stage 2-Stage 3-Stage L 1174 135.1 138.5
g L 93.5 106.5 119 g
i L i
.3 - .3
270
%g 34.8 19 §§
= 13,
- U558 Bf g 28]
i 2 D45/46 - : = ' | 10 E 25 =EE
e NS i i = B
s e BNl o L
| — &% | g I .
_ s:J ,,,,,,,, E & 2 Sis / Ml__30.5
@ e e | u
11 23 { ]
30.5
i< Total length 1-Stage 2-Stage 3-Stage
L i [ | 135.1 138.5
Ei< Total length 1-Stage 2-Stage 3-Stage
L 93.5 106.5 119
S —— [ 750w stz rR<reCA8) 750 imensions (second choice)
(2):Provide specific motor type when ordering,the dimensions are subject to final outline drawing. L
42 80x80
35 R #107
96 1 N b 7 25 ol
u 25 ll"'nvm T
-~ i o4 2 - . - [E=Z
A Full load efficiency(%) 5| 5 ol n i = | = %\!
90 3 9] § %‘ 117 1 %@ SOTEN T E g i i“’ho VIIIII
b i =
0.4 0.9 2 6 18 1 A 305 MR ]
EE Net weight(Kg) 0.5 1l 2.6 8 22 2 [ p
0.6 1.3 3.1 9.5 29 B W
# TS 4-M5Sx12
{Em%E#s Working Life 20,000 hours
; 2k Total length 1-Stage 2-Stage
RIS e £ . =
2fEFEEE 2 x Rated torque L 123.5 136.5
Instant stop torque




X0V AYVLANY1d

4G et L D

60SPFE%IIMEZRTE
60SPF Series Dimensions

3.5 35
3
5 25
T 2s ]|
5 = A g o AN
§:[ H"*’j@f ”3}" HE R 5//7
l 1 30.5
|
30.5 8
24 Total length 1-Stage 2-Stage 3-Stage
L 117.1 135.1 138.5
L
35
34.8 19
B
251
| ]
*..I_.lﬂ I 25 o=
2|8 i =1 8
S A
|® 30.5
I i
M57% 15mm ShE
60 %60 -
21< Total length 1-Stage 2-Stage 3-Stage
L 1174 135.1 138.5
L
42
60X60
——T 3 -
7 25 #90
Zs | / K
B H-—He —{HIE—1 14 | |
A4 Mo 1 =/
A
1/ 18|
41 T 4-M5x12

21 Total length 1-Stage 2-Stage
L 123.5 136.5

(1)ATHEHEEFEMNEBTRES, BELIMERTEFRIANE,
(2):Provide specific motor type when ordering,the dimensions are subject to final outline drawing.

80SPEEFI/MERTE
80SPE Series Dimensions

36.5 40
3
280 4-MBX10
= =
! 70 | 28
@
7 o
i Y, ‘{:L
o o o . o LW g
B I iy | | —
\ MEx16 "Eb-l___
‘ 4:d 36

24 Total length 1-Stage 2-Stage 3-Stage

80X80

S\

: B
- \
Y] }

e i
1
L]
i

N

L 136.5 154.5 172
L
47.7
40
-¥6F10m
%
+— P.CDaT020 ] T
= |
28
\,I : [XATHEN] —-%—10 N
~ 1 H
[ e gl & T = 0 =t
j - R A | K
§-25. 587 8 & ok, 8| ®
L300, 5¥6m ‘ _@, 1
36
== L i

M6i£16 10.5

25

21< Total length 1-Stage 2-Stage 3-Stage

L 145 166.5 179

#3567
#1967

L]
280

|

|

|

|

|
220n7
260h7

100x100

2115

4xMBx20

21 Total length 1-Stage 2-Stage
L 163.5 181.5

(1)ATHWRESHIFEANBNES, BERLSNERTERIANE.
(2):Provide specific motor type when ordering,the dimensions are subject to final outline drawing.

%
—
=
=
[=p]
é
=)
-

e et L M




80SPF&EFIIMNERTE 120SPEREFIIMNERTHE
80SPF Series Dimensions 120SPE Series Dimensions

- o
% 36.5 10 40 2] = %
3 Y L
H 210 ] H
; \®)</—° P ! ;
= *TFT 28 = LI w0 _| s =
o \ | i il . B &
= | gyt hldy e LU — T4 R it ke et
I N 2 g 8 Q;
g g 3 J"ﬁ;T* g | 50 S
S e " | =
A 4—96.5 - - &%
130%130
=24 Total length 1-Stage 2-Stage 3-Stage 54 Total length 1-Stage 2-Stage 3-Stage
I 136.5 154.5 172 I 191.7 2237 243
— 4=
17 17
i L Tz o "
E 2100 47.7 10 . LE
y 10 80X80 55
A& — = e — - 2107 GEI = a5
: ' . = = r
/g @ § N I 28 10
1 ® D\ |\ o ' .
/ \ — o ———H =f
[ e\ ' == I | BE N -1 g3
HAWR 2 T sl 0T 5T 55 | =
\ &) af | | o | 50
[\ | £ \
(& & ' -
ot N6 L6 10.5 &
90 90 25
4 Total length | 1-Stage 2-Stage 3-Stage i< Totallength | 1-Stage 2-Stage 3-Stage
L 145 166.5 179 |- 194.7 227.7 247
9.5 L
10, 0 73 55
2 4
115 I T
28 ~h._
: e \\ _l__ B | I 40 t 5
g | HO— 81— — 1 1 CERY i

02
1 i B
T
—
—d
1
#115
4

N\4-M8x20

130x130

21 Total length 1-Stage 2-Stage 24 Total length 1-Stage 2-Stage
L 163.5 181.5 L 201.7 235.2
(1)ATMEHESHIFENEBNES, BERLIMNERTERALE. (1T WRESHIEMNBENES, BERLIMERTEFRANE.

(2):Provide specific motor type when ordering,the dimensions are subject to final outline drawing. (2):Provide specific motor tvpe when orderina.the dimensions are subiect to final outline drawina.



120SPFHFUSMERTH 160SPERSISMERTE
120SPF Series Dimensions 160SPE Series Dimensions

=)
E L B3 : 87 ;
63 S5

e iy A== 5

= >

- . = 1 — -

) o 1 NE T I | s " - 1 S ) [N . T 8

a 8T : 93 sqH—dir—2— -—1 §3 >

el | $ 50 ‘ ~ = g

@™ | ‘ = @]

(:) | | =
>

120%120 56 HA
130x130 | 68
165%165
24 Total length 1-Stage 2-Stage 3-Stage 245 Total length 1-Stage 2-Stage 3-Stage
L 191.7 223.7 243 L 280.5 321.5 363

— e

i L i

% 66 55 L 1%

#110G7
267, =
m
-
l | |
| o
]
2115
&
k
#110h7

12 70
- ——]
LN S i1 _ 1 & iy | I
| {EE):7 50 =

2
|
T
|
9165
9160
|
s
4007
#130h7

60 LN
130x130 y 165%165
/=1 Total length 1-Stage 2—-Stage 3-Stage =1 Total length 1-Stage 2-Stage 2-Stage
L 194.7 227.7 247 I 280.5 3215 363
L L
73 55 96 a7
" ] 1
. I ]
. 40 .5 1 7
;‘: *4_2 o |
5 o G G | @ o = o o o e I O N Qh?
= EEJF* 17Tt 42 AT ——%%
T__ I 50 i _t___ N
| J
- | | |
s | 81
67
130x130
175%175
2 Total length 1-Stage 2-Stage 24 Total length 1-Stage 2-Stage
L 201.7 235.2 L 293.5 3345
()T EFHESHIFANBHES, BRLSMER T ERARTE. (DTERESHFANENRS, BELIMERTERANE.

(2):Provide specific motor type when ordering,the dimensions are subject to final outline drawing. (2):Provide specific motor type when ordering,the dimensions are subject to final outline drawing.



160SPFRFIIMEZRTE SPS RIIZHITEIRIERS
160SPF Series Dimensions SPS Series Planetary Gearbox

a3 15 a7

70

(]

0165

2160

840n7 I‘”
2130n7

80

X084V3ID AHVL13INY1d

X084VY3ID AYV.L3INYd

175%175

165165

&4 Total length | 1-Stage 2-Stage | 3-Stage B EARZEE  TECHNICAL INFORMATION
L 280.5 3215 363
= ==
w 30 75 150 400 1000 3 P
iE . e 40 100 200 560 1200 4 iE
52 s 50 110 210 700 1900 5 1 =
N 37 62 148 450 1000 8
& o | — 27 45 125 305 630 10
1 JE___ | f::?gﬁﬁt Bl 77| 120 260 910 1800 12
8 I H—-HHa—a—+ ——T o 68 110 210 780 1800 15
| - 77 120 260 910 1800 16
, 77 110 260 910 1800 20
i 68 110 210 780 1800 25 2
o 77 120 260 910 1800 32
68 110 210 780 1800 40
21 Total length 1-Stage 2-Stage 3-Stage 37 &R L i L =
- = = - 27 45 125 305 630 100

* = 182 Noise Level 58 60 65 68 70
| Be MR Max Input speed (rpm) 14000 10000 8500 6500 6000
_._I_i ;f;;[ s T A EEE Recommend Input speed (rpm) 5000 4500 4000 3000 2500
E %[T**_’j gl o | _ _E{ 3 B AfZm7 Max ratial torque(N) 3000 3900 4300 8200 12000
% —IF——T - ) B AK4HIE 7 Max axial torque(N) 6000 9000 12000 19000 28000
I T{EiRE Operating temperature =25C~90°C
L (RIPZR P IP54
171178 = SEE75= Lubrication £5iH:8 Life time lubrication
1750175 Z4=757 Mount type £ Any direction
/=< Total length 1-Stage 2—-Stage
L 293.5 334.5

(N)TWEHESHIFAORNES, BELUIMNERTERANE.

(2):Provide specific motor type when ordering,the dimensions are subject to final outline drawing.



SPS ZRFILZBI1T EIRLiE RS SPS RINZFHITERIEER

SPS Series Planetary Gearbox SPS Series Planetary Gearbox

B EAREE TECHNICAL INFORMATION

- L1 )
[ mm=s s | mmum[sesmo] sesso[spotts| estez | seren s cearato | e | T :
=2 L L9 113 L1 |8 =
i 0.32 0.81 2.1 12.14 47.52 3 Sy : ] m
% 0.2 0.6 1.51 778 | 2969 4 B E
o 0.16 0.52 1.22 6.07 23.18 5 1 T | a
% 0.12 0.46 1.05 463 16.83 8 8 g ++—}-+f-—mmm || S % 71 %
= 0.1 0.44 1 4.25 15.32 10 ol = =
> i | 0.22 0.75 2 12.37 30.25 12 i >
Moment of Kgem? 0.21 0.74 2 12.35 23.53 15 ]
Intertia 0.2 0.56 1.48 7.47 28.95 16
0.17 0.5 1.41 6.65 22.71 20
0.16 0.48 1.21 5.81 22.46 25 2
0.13 0.45 1.46 6.36 16.65 32
F 0.13 0.45 1.05 5.28 16.54 40 5
2 0.13 0.45 1.05 4.5 16.45 64 2
ok 012] 044 1 417 | 1507 100 B SPSEZISMEZR SPS SERIES DIMENSIONS bE
1= 1=
a5 g
H# Stage 1 2 1 2 1 2 1 2 1 2
‘ *?,E S = =5 =0 = = 1 R~ Size 47 (Unit): mm
EfER@ A5 (& Standard ol = S i = L1 124 1475 | 1555 184 193 2269 | 2805 | 3215 | 3055 353
Backlash arcmin | ¥5% Percision <5 <5 =5 <5 =5
= 2 L3 62.5 86 69 97.5 77.5 111 110.5 151.5 121 169
Iz Standard <10 =10 <10 =10 <10 #1588 Output End
AR Torsional stiffness 2 2 20 44 130 ! L4 32 41.5 64.5 87 90
7 10 22 46 140 2 : :
08 y L5 28 36 58 80 82
#EHEE Full load efficiency(%) 95 - L8 3 33 4 5 6
3 43 9 15.4 33.5 1 D4 ®19h7 ©22h7 ®32h7 ®40n7 ®55h7
B Net weight(Kg) 338 5.7 116 18.6 45 2 D5 35 ©40 ©45 ©65 ©95
D6 ©60h7 ©80h7 ©110h7 ®©130h7 @ 160h7
D7 70 90 115 142 190
D8 75 ®100 130 165 215
{#EA&EA Working Life 20,000 hours D9 ®5.5 ®6.5 ®8.5 @11 ©13.5
SMFHHEE Instant stop torque 2fEFAREMIE 2 x Rated torque L13 23 30 34 52 52
L14 64 87 115 140 190
A% Input End
L2 205 45 51 80 94
L9 23 35 45 67 81
L10 3 35 35 6 6
D1 75 ©100 115 ©165 215
D2 ®50h7 ©80h7 ©95h7 ©130h7 ®180h7
D3 ®11h7 ©16h7 ®19h7 ®©35h7 ©38h7
Gi M5 x 12 M6 x 15 M8 x 22 M10 x 25 M12 x 25
Q3 70 90 115 142 190




wsp R HITERIRIERR WSP RIUITERE=R

WSP Series Planetary Gearbox WSP Series Planetary Gearbox
B #EARE#E  TECHNICAL INFORMATION
= =
= z
> >
2 . 0.044 0.246 1.189 5.75 3 -
) i’ 0.035 0.204 0.939 3.91 4 )
= i 0.032 0.189 0.869 3.35 5 1 2
e 0.03 0.176 0.809 2.89 8 e
0.026 0.152 0.73 2.54 10
0.043 0.242 1.15 5.73 9
0.042 0.238 1.139 2.6 12
0.036 0.188 1.129 5.53 15
B #AEE  TECHNICAL INFORMATION s e Lk s L
5 EmiEE 0.032 0.186 0.859 3.26 20 5 5
=] Moment of Kgcm? 0.032 0.186 0.859 2.84 25 =]
" Intertia 0.03 0.175 0.809 2.84 32 "
& 45 12 40 80 3 0.029 0.175 0.809 2.84 40 &
£ 6 16 50 100 4 0.029 0.175 0.809 5.62 64 52
6 16 50 110 5 1 0.042 0.187 0.929 3.28 60
5 15 45 120 8 0.032 0.186 0.919 5.81 80
5 15 45 120 10 0.032 0.186 0.859 3.26 100
16.5 44 110 210 9 0.042 0.175 0.119 5.47 120
18 44 120 260 12 0.029 0.175 0.809 2.84 160 3
18 40 110 230 :: 0.029 0.175 0.809 2.84 200
20 . 120 260 0.029 0.175 0.809 2.84 256
i LiaE
s i 12: :fg :fg igg ig 2 0.029 0.175 0.809 2.84 320
Torque g = o oo = 0.029 0.175 0.809 2.84 512
18 40 110 230 40
75 18 50 120 64
20 44 120 260 60
20 44 120 260 80 - s 74 Standard =40 =30 <25 <15 1
20 44 120 260 100 fac:da;h aremin |15 Standard <45 <35 <30 <20 2
18 40 110 230 120 ¥R Standard =50 <40 <40 =25 3
20 44 120 260 160 3 94 1
123 :40 1;8 ggg zgg FEBEE Full load efficiency(%) 92 2
18 40 110 230 320 88 3
75 18 50 120 512 0.51 0.51 0.51 12 1
H8 Net weight(Kg) 0.61 0.61 0.61 14 2
0.7 15 4.5 10 1
#5 Noise Level 0.0 2 > 2 FBRIE Torsional stifiness 11 25 6.5 13 2
REmAEE Max Input speed (rpm) 18000 13000 7000 6500 p 25 63 12 3
AR Recommend Input speed (rpm) 4500 3000 3000 3000
BH42MEH Max ratial torque(N) 160 340 650 1500
EAShEA Max axial torque(N) 160 900 2100 {#EFA&E4a Working Life 20,000 hours
T{FiRE Operating temperature FTF25CT~90TC B2 EHIE 2EFHEIE 2 x Rated torque
{RipeEg P P54 Instant stop torque
#8875 Lubrication #5388 Life time lubrication
5 Mount type Any direction




X084V3D AYV1INVd

e e L M

WSPE RIITERIERR
WSPE Series Planetary Gearbox

B /SMER<T DIMENSION

L1

L3

L12

L9
L2

¥4 Stage 1 2 3 1 2 3 1 2 3 1 2 2
R~J Size B47(Unit): mm

) 119.5 | 1325 | 1445 | 156.5 | 169.5 182 194 212 229.5 | 258.5 | 286.5 314
Lz 38.5 51l 5 635 46.5 59.5 72 60 78 95.5 R 110h] L5 129
142 68 93 109.5 145.5

Hthi% Output End

L4 26 35 40 55

IE5) 24 30.5 36 50

L6 16 25 28 40

L7y 2.5 2.5 4 5

L8 2 3 3 4

D4 ®10h7 ®14h7 ©20h7 ®25h7

D5 12 17 25 ®35

D6 D26 40 @60 80

D7 ©40 ®60 80 115

D8 34 ®52 @70 ®100

B1 3 5 6 8

H1 11 16 2215 28

G2 M4 x 6 M5x18 M6 x 10 M10x 16

G3 M3 x 9 M5 x 12 M6 x 16 M10 x 22
A% Input End

L2 19 23 26.5 27

L9 25 30 35 45

L10 ! 28s 30 35

D1 46 70 ®100 ®115

D2 ®30h7 ©50h7 ®80h7 ®95h7

D3 ®8h7 ®14h7 ®16h7 ®19h7

G1 M4 x 10 M5 x 12 M6 x 15 M8 x 20

Q3 40 60 90 115

WSPF RFUITERIEER
WSPF Series Planetary Gearbox

B %MERST DIMENSION

L1

L3 L4

=

| ___@ -H

D7
D5

Li2

_r ' i —

&1

¥y Stage 1 2 3 1 2 3 1 2 3 1 2 3
R Size {37 (Unit): mm

L1 1195 | 1325 [ 1445 | 156.5| 169.5 182 194 212 2295 | 258.5| 286.5 314
L3 285 SilEh 63.5 46.5 59.5 i2 60 78 95.5 73.7 101.5 129
L12 68 93 109.5 145.5

% Output End

L4 26 35 40 50

L) 24 30.5 36 50

L6 16 25 28 40

L7 2.5 215, 4 5

L8 2 3 3 4

L3l 6 8 10 15

D4 ®10nh7 ®14h7 ®20h7 ©25n7

D5 12 17 ®25 35

D6 D26 ®50 80 110

D7 45 60 90 120

D8 ©50 70 ®100 ®130

D9 3.5 5.5 ©6.5 ®8.5

B1 3 5 6 8

H1 11.2 16 22.5 28

G3 M3 x9 M5 x 12 M6 x 16 M10 x 22
B Input End

L2 19 23 26.5 27

L9 25 30 85 45

L10 %) 2:5 3:0 3.5

D1 46 70 @100 ®115

D2 ®30h7 ®50nh7 ®80h7 ®95h7

D3 ®8h7 O 14h7 ©16h7 ®19h7

G1 M4 %10 M5x12 M6 x 15 M8 x 20

Q3 40 60 90 kS

-
=
o
o
:%l
=<
)
m
b
=]
@
o
>

e et L M 5




SPB RIIFISITERIERR SPB RIIFHSTTERIERSR

SPB Series Planetary Gearbox SPB Series Planetary Gearbox

B #EABFE  Techical Information

e e
=
5 5
- z
_|
= E
=< =
) 0.16 /| 130 /| 325 9.21 28.98 | 69.61 3 a
5 0.14 /| 140 /| 274 | 754 | 2367 | 54.37 4 =
@© @©
Q 0.13 ! 160 / 2.7 7.42 23.29 53.27 5 g
0.13 / 150 / 2.65 .25 22.75 BisT2 6 1
0.13 /| 140 /| 262 7.14 2248 | 50.97 7
0.13 / 120 / 2.58 7.07 22.59 50.84 8
0.13 ! 100 / 257 7.04 22.53 50.63 9
(0}5) / 100 / 2 frans 2215 50.56 10
?i' EEhEE 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29 15 1»5.
E Moment of N.m 0.03 0513 0.13 0.47 0.47 A 7.42 23.29 20 E
e B EAZEE Techniacl Information Intertia 003 | 013 | 013 | 047 047 | 271 7.42 | 2329 25 51
1E 0.03 0.13 0.13 0.47 0.47 2.71 7.42 | 23.29 30 1%
=2 a
s 003 | 013 | 013 | 047 | 047 | 271 | 742 | 2320 35 Cr
0.03 0.13 0.13 0.47 0.47 2.71 7.42 | 23.29 45 2
55 |/ 130 |/ 208 342 588| 1140 3 ErE P G pp= T
50 |/ 140 |/ 200| __ 542] 1050|1700 7 Bl : ) : : : L = 2L
60 |/ 160 |/ 330 650 1200| 2000 5 1 0.03 0.13 0.13 0.44 0.44 2.57 7.03 22.51 60
55 |/ 150 [/ 310 600] 1100] 1900 6 0.03 0.13 0.13 0.44 0.44 257 7.03 | 2251 70
al el el sl cul el osa | 05 Lo | ou [ou | s i [mor|
20 |/ 100 |/ 230 450 300 1500 9 0.03 0.13 0.13 0.44 0.44 A 7.03 aria) 90
40 |/ 100 |/ 230 450 900 1500 10 0.03 0.13 0.13 0.44 0.44 2.57 7.03 22.51 100
e e 55 55 130 130 208 342 588 | 1140 15
Rated Output N.m 50 50 140 140 290 542| 1050 | 1700 20
Torque 60 60 160 160 330 650| 1200 | 2000 25
55 55 150 150 310 600[ 1100 1900 30
50 50 140 140 300 550 1100 | 1800 35 2
45 45 120 120 260 500| 1000 | 1600 40 =
40 20| 100 100] 230 450 900| 1500 45 o e e Fercislon j3 : js ! j3 j3 js js 1
60 60 160 160 330 650 1200 2000 50 _ i Stan@rd <5 / :5 / <5 :5 :5 :5
55 55 150 150 310 600 1100 1900 60 Backlash |arcmin 5% Percision / <5 =5 <5 <5 <5 =5 =5 .
50 50 | 140 10| 300| 50| 1100 1800 70 #ft Standard / = =l |
7 7 14 14 25 50 145 225 1
2E s L L 260 500 1000 2 80 fi#HNI#: Torsional stiffness
40 40 100 100 230 450 900| 1500 90 7 i 14 14 25 50 145 225 %
40 40 100 100 230 450 900| 1500 100 =97 1
EREE Full load efficiency(%) ] =
B Net weight(Ka) 453 13 7 287 7.8 145 29 48 1
2Z Noise Level =58 =60 =60 =63 =63 =65 <67 <70
B AEE Max Input speed (rpm) 10000 10000| 8000 8000 8000 6000 6000 4000
R N E Recommend Input speed (rpm) 5000 5000 4000 4000 4000 3000 3000 2000 {#M%E Working Life 20,000 hours
BAMEH Max axial torque 1530 1530 3250 3250 6700 9400 14500 50000 g
B AR Max ratial torque 765 765| 1625 1655 3350 4700 7250| 25000 F'?Eﬁﬂﬁt IETFHEHE 3 Rated torque
T{ERE Operating temperature ETF10°C~90C nstant stop torque
(RIS P IP65
i@ =t Lubrication £ 58 Life time lubrication
%755 Mount type {FE7518 Any direction




)
>
g
3
=<
)
m
>
=]
@
]
P

e et 2 W

SPB R EITERMIESS

SPB Series Planetary Gearbox

B SMERT

L1

B R=T#% DIMENSION Table

DC5G6

c9

ca

L8

L7

DIMENSIONS (4% Single Stage, @&tk Gear Ratio i=3-10)

DCIGE

-

— L4
E LS L6
s €
_— 2
| [
c4
%\
o D5F(depth)L9

SPB RIFGITERMIES

SPB Series Planetary Gearbox

B SMERT DIMENSIONS (4, imiEELi=15-100)

D1 70 100 130 165 215 250
D2 910 6.6 9 11 13 i
D3 h6 16 22 32 40 55 75
D4 g6 50 80 110 130 160 180
D5 M5 x 0.8P M8 x 1.25P M12 x 1.75P M16 x 2P M20 x 2.5P M20 x 2.5P
D6 80 116 =2 185 240 292
L1 60 0 115 142 180 220
JE2 37 48 65 97 105 138
L3 7 10 12 15 20 30
L4 28 36 51 79 82 105
L5 25 32 40 70 70 90
L6 2 zl B 4 6 7
L7 6 8 10 15 20 25
L8 65.5 78 101.5 119.5 154 163.5
L9 12.5 19 28 36 42 42
C1 70 100 130 165 215 235
Cc2 M5 x 0.8P M6 x 1P M8 x 1.25P M10 x 1.5P M12 % 1.75P M12x 1.75P
C3 =14/<16 <19/<24 =32 <38 <48 <55
C4 35 40.5 51 60 85 116
C5 G6 50 80 110 130 180 200
C6 8 4 5 6 6 6
C7 60 90 115 142 190 200
C8 19.5 17.5 20 22.5 29 63
Cc9 122 143.5 186.5 239 288 364.5
B1h9 5 6 10 12 16 20
H1 18 245 35 43 59 79.5
R~ Size A7 (Unit) mm

ca L8 L2
L7 L3
L4
_ I: L5 L6
g §: I Y . . — &3
el L q G
7 [
c6
c4
co 060AZB/090AZB
C8 La L2
c7
7 L3
g f I
i D5 th)L9 } Ls Le
§i* I [ I — %
‘ R 4
H1
]
g
_ca|
c4
DA 70 100 130 165 215 250
D3 5.5 6.6 9 11 13 17
D3 hé 16 22 32 40 55 75
D4 g6 50 80 110 130 160 180
D5 M5 % 0.8P M8 x 1.25P M12x1.75P M16 x 2P M20 x 2.5P M20 x 2.5P
D6 80 116 1562 185 240 292
L1 60 90 115 142 180 220
L2 37 48 65 97 105 138
1.3 i 10 12 15 20 30
L4 28 36 51 79 82 105
L5 25 32 40 70 70 90
L6 2 3 5 4 6 7
L7 6 8 10 15 20 25
L8 102.5 116 126 143 169.5 207.5 246
L9 12.6 19 28 36 42 42
C1 70 70 100 100 130 165 215
Cc2 M5 x 0.8P M5 x 0.8P M6 x 1P M6 x 1P M8 x 1.25P M10x 1.5P M12x1.75P
Cc3 <14/<16 <14/<16 <19/<24 =19/=<24 <32 =38 <48
c4 35 35 40.5 40 50 60 85
C5 G6 50 50 80 80 110 130 180
C6 8 8 4 4 o 6 6
(o7 60 60 90 90 115 142 190
Cc8 19.5 19.5 17.5 17.5 1255 225 29
C9 159 183.5 191.5 225.5 283.5 335 409
B1h9 5 6 10 12 16 20
HA1 18 24.5 35 43 59 79.5
R Size gafiz(Unit): mm

)
>
:
35
£
()
m
>
o
®
Q
>

e e L R 3




A OHEEREVRERS RACHBEREVRES
VR SEIRES SERIES VR SERIES PLANETARY GEARBOX

W HEER (WAFEEI3000rpmAT)

° )
> me WA EEBA  BEEk  SFER  SEme SABRER mvmn BEORAS 5
z 5 HE  WHEE e o BEERE @ FRARE =
;‘:I HE EEE B (Rpm) (N.m) (N.m) (N) (N) (x10°kg.m) (N.m) (N.m) ;—j
o] VRLUIF | -3 B -50 1000 0.255 0.784 392 196 0.0575 3.43 10.3 el
=< VROF | -3 | B | -100 1000 0.715 2.06 392 196 0.0575 343 0.3 =3
o VROF| 2 | & [ 200 | 1000 147 451 302 19 0.135 343 103 a}
> VROF | -3 B | -400 1000 3.43 10.3 392 196 0.145 343 10.3 >
2 VROF| -3 | c | -750 1000 6.37 19.3 784 392 0913 6.86 206 =
o VRUF | -3 D | -1000 1000 7.55 22.8 882 441 2.43 18.3 54.9 O
E 1/3 VROF | -3 D | -1500 1000 23 37.1 882 441 2.43 18.3 54.9 P

VRLIF| -3 D | -2000 1000 17.2 51.5 882 441 2.43 18.3 54.9

VROF | -3 E | -2500 1000 19.0 57.2 1370 686 5.56 44.1 132

VROF| -3 E | -3000 1000 23.7 71.2 1370 686 5.50 44.1 132

VRLOF | -3 E | -3500 1000 28.3 85.2 1370 686 5.50 44.1 132

VRCF | -3 E | -4000 1000 33.1 99.0 1370 686 5.78 44.1 132

VRLIF | -3 E | -4500 1000 37.7 113 1370 686 5.78 44.1 132

VRLIF | -3 E | -5000 1000 42.9 128 1370 686 5.78 44.1 132

VROF | -5 B -50 600 0.510 1.47 430 245 0.0400 57 4.70
o p—
1T VRLF [ -5 B | -100 600 1.18 3.72 490 245 0.0400 il 4.70 1T
2 VR PG — [ | VROF | -5 B | -200 600 2.65 8.04 490 245 0.118 284 8.53 2

i VROF | -5 C [ -400 600 5.39 16.2 980 490 0.363 6.57 19.7
ik (1) (7] 0 0 VROF| 5 | ¢ | 750 500 107 32.1 980 490 0.713 15 343 brid
= i R ARl . e e e e e i

-] P I = g -5 -1500 : 64.4 3 ; i =

B ® BEAERT O REYAUE: THCHE PEAMRRR LOWER VROF | -5 | E [ -2000 600 238 71.5 1670 833 350 56.8 171 1

© L . VROF| -5 E | -2500 600 318 95.5 1670 833 350 56.8 71

@ WNARFZL: VROF| =5 | E | —3000 500 396 9 1670 833 348 6.8 171

S:BEEAL(TEDAMERIET 2T RIEET R ) gﬂg‘?"“’f&?'&g'm FRfEE:15,20,25,35,45,81 VROF| -5 E [ -3500 600 47.2 141 1670 833 3.48 56.8 171

< DRVHAER, QKR O SDEMEER > ol 2R © RIS VRLF] -5 E | -4000 600 55.3 166 1670 833 s 56.8 171

LTz @ ERARDIAINER(W) 325:; -S9 B | -50 333 0.921 2.74 588 294 0.0350 2.35 7.25

B A o = ; P -S9 B | -100 333 2.25 6.86 588 294 0.0350 2.35 7.25

Kﬁn(_zmﬂ;\ﬂi N O £ HEWR VROF [ -se [ ¢ | -200 333 3.72 11.3 1180 588 0.275 9.70 29.2

WP 1A ) VRLIF | -s9 c | -400 333 9.51 28.5 1180 735 0.75 9.70 29.2

AERA(REHEESHRATRER) @ BES(ESLEHNENZEANE Zr-ails) 1/9 VROF | =s9 D | -750 333 1.3,2 54:7 1470 980 0A5.50 1.5_2 54:7

@ REHAMBLAE VROF [ -s9 | E | -1000 333 20.0 0.1 1960 980 281 735 721

Aty [ VROF | -s9 E | -1500 333 34.3 103 1960 980 2.81 73.5 221

P o A R e A AT VROF | s9 | E | —2000 333 486 146 1960 980 2.81 735 221

VRLOIF | -s9 E | -2500 333 60.8 182 1960 980 2.81 73.5 221

VRLIF [ -s9 E | -3000 333 73.0 219 1960 980 2.77 735 221

VROF | -15 B =50 200 1.67 5.00 784 392 0.0350 4.02 12.2

= 40 3 > VRINEESTS B [ -100 200 3.72 11.4 784 392 0.0350 4.02 12.2

BRI SHEEFRENEE73000rpméaTt) I:l B50 - B50 - B50 - B30 VROF | =15 | C | -200 200 6.27 8.8 1470 735 0.300 162 486

1/15 VROF | -15 C [ -400 200 15.8 475 1470 735 0.300 16.2 48.6

VRLCIF | -15 D [ -750 200 30.4 91.2 1760 882 0.700 30.4 91.2

VRLIF | -15 E [ -1000 200 33.3 100 2350 1180 2.80 91.4 274

VROF | -15 E | -1500 200 57.2 172 2350 1180 2.80 91.4 274

VRLIF | -15 E [ -2000 200 81.0 243 2350 1180 2.80 91.4 274

VRLIF | -20 B -50 150 2.21 6.63 804 402 0.0340 5.00 15.0

VRUF | -20 B | -100 150 5.00 15.0 804 402 0.0340 5.00 15.0

1/20 VRLUIF | -20 Cc | -200 150 8.69 26.1 1570 785 0.294 211 63.3

VRLIF | -20 C [ -400 150 2.21 63.3 1570 785 0.294 21.1 63.3

VROIF | -20 D | -750 150 40.6 122 1910 955 0.690 40.6 122

VRLIF | -20 E | -1000 150 44.5 134 2500 1250 2.72 78.4 235

VRLOF | -25 B —50 120 2.74 8.33 882 441 0.0325 4.02 12.2

VROF | -25 B | -100 120 6.27 19.0 882 441 0.325 6.27 19.0

1/25 VROF | -25 C [ -200 120 11.1 33.3 1670 833 0.288 215 64.9

VRLIF | -25 C | -400 120 26.4 79.2 1670 833 0.288 26.4 79.2

VRUF | -25 D [ -750 120 50.7 152 2060 1030 0.680 50.7 152

VROF | 25 E [ -1000 120 55.7 167 2650 1320 25 65.4 196

VRLUIF | -35 B -50 85 3.84 11.5 882 441 0.0300 3.84 11.5

VROF | -35 C | -100 85 7.24 21.7 1670 883 0.0650 13.9 41.7

1135 VRIF | 35 | © | 200 85 155 266 1670 883 0.262 155 %556

VRLIF [ -35 D | -400 85 37.0 111 2060 1030 0.269 37.0 111

VRLUIF | -35 E -750 85 71.0 213 3430 1715 0.473 71.0 213

VROF [ -35 B -50 66 3.86 11.6 1670 833 0.0285 9.50 28.6

VRLEIE] =35 C | -100 66 9.31 28.0 1670 833 0.0285 9.50 286

1/45 VROF | =35 | C© | —200 66 211 635 2060 1030 0.0256 283 852

VRLIF | -35 D | -400 66 47.5 142.5 3520 1760 0.245 57.0 171

VRUF | -35 E | -750 66 91.3 274 3520 1760 1577 91.3 274

VRLUF | -81 C -50 37 7.02 20.8 1670 833 0.0270 9.70 20.2

1/81 VROF | -81 D | -100 37 14.0 42.0 2060 1030 0.0300 17.8 536

VROF | -81 E | -200 37 36.1 108.3 3530 3530 0.240 43.3 129.9




BOHMBEREVRATIIRTE T
VR SERIES PLANETARY GEARBOX DIMENSION ASSEMBLY

B REDIAMEE Assembly Procedure

EFBTRERRDIARN, ERLITEMHTRE. ARDENRISSHELE, RIEENr-Rt, LRIt TEERE=, B,
—EEFRETEMEENDIE.

If a customer personally assembles the servo motor and reducer please use the following tip. The reducer flange to which the servo
motor is attached has different dimensions based on the motor specified. Therefore,assembly may be impossible for some motor.
Make sure the correct motor is specified before ordering the reducer.

LR

4-LZFX - WD, ERAE
mFE

1. 2% LRIk Spec. In Case Of Assembling A Motor Without Key @ PLE/F/WE/WF/S REIREE

PLE/FIWE/WF/S Series Schematic Diagram
OETFRIIE, N, FResSNEERETNIME. HAEEEEERT.
Take off the rubber cap,turn the input shaft,and match the head of the bolt to the
hole of the rubber cap.Make sure that the set bolt is loosened.
gﬁg%ﬁfﬁﬁi&ﬁ)\m)\% (ERATZEERITWINEN ) . BROEEFAZILD
Gradually put the motor shaft into the input shaft (Ensure that it is smoothly put in
without iam.) Be careful not to be inserted with the motor tilted.
QEDIABEEREN L, FHEEEMHESRRITE, 25F1
Attach the motor to the reducer and fasten the bolt with designated fastening
torque.See Table 1.

E E
7 m
> >
) =)
< <
7] 7]
m m
> b
) =)
o o
o o
> >

7 @EFRERFEIR, RIEEMRESEANNNERIRRITE, 25R2 7
— Fasten the set bolt of the input shaft with designated fastening torque wrench,

£ — ik = etc.See Table 2. 2
= = = el n
i HC-KFS LR S Q QM QK WxU LB |LE |LE LA LZ CFE LIRBIE, TREILLSR. ‘ i
15 HC-RFS Put on the rubber cap.lt is the end of assembling. 1%
== VRSF 3:-5-9 B 50 99.5 B

VRSF [15-20-25- 35 B 50 110 @® =1 Table1

EmeE e e

VRSF 35 B 200 —

VRSF 3 B 400 ' M3 1.0 10

522:2 453-581 g 1%% 1;3 M4 3.0 30

M5 5.8 60

VRSF 45 @ 100 142 i P e

VROE - T 1285 50 19(30| 26| 22| 6x35 | 6 (78| 70| 3 | 90|M6| 20 ;

VRSF [15:20-25-35 C 200 150 M8 19.6 200

VRSF 5-9 © 400 139.5 M10 39.2 400

VRSF | 15-20-25 & 400 150 M12 68.6 700

VRSF A & 750 143.5

1

VRSF 81 D 100 142 —— — -

VRSF 45 D 200 165

VRSF 35 D 400 ® &2 Table2

1o L] & = 158.5 50| 19|30|26|22|6%x35 |6 |78]|70| 3 [ 90|Ms|20

VRSF 1520 - 25 D 750 171

VRSF 3:5 D 1000

VRSF 3-5 D 1500 177 M3 1.5 15

VRSF 3 D 2000 M4 alb 35

VRSF 81 E 200 M5 7.1 71

VRSF 45 E 400 210 M6 12 120

VRSF 35 E 750

VRSF 45 E 750 235 L & 2l

VRSF 9 E 1000 215 M10 60 612

VRSF 15825 E 1000 235 it S

VRSE 3 E 1500 215 TRIEXDANENTE, TMR BATRDA—HLRE, TRIBL2E,

VRSF 15 E 1500 235 You can assemble the motor with keyway like above when take off the key.

= = = = e 75(32|55|52 (45| 10x5 [ 5 |135(110| 8 [125|M10| 20 PO ———

VRSF 15 E 2000 235

VRSF 3:5-9 E 2500 | 215 =

VRSF 3:5-9 E 3000 | 215 225 =

VRSF 3:5 E 3500 | 215 = 225

VRSF 3:5 E 4000 225 -

VRSF 3 E | 1500 | 225 | =

VRSF 3 E 5000 225

(NEENF(DIATIRFICH R EI DL, BEH(ENMREDARENFREZR T BRI REE)
(2)mNGhEE= 5 B S DM AEE
(3)EFAFHAREREE



ASSEMBLY

B ZEDARNEE Assembly Procedure

) )
; RIERZEERE LN, FERAZEEFEELERNSE, FREERFSIAKISENRERREHEERE. 5E%3 ;
=2 Jointing with reducerin case of jointing a reducer with the device,make sure that the combining side is plane without inconsistency, =
ﬂ and when assemble reducer outo equipment,ensuring assembly surface smooth and without burr.See Table 3. ﬂ
> >
) )
=< =<
(7] @ =3 Table3 =
m m
> >
=) )
@ @
= M5 5.8 60 e

M6 9.8 100

M8 19.6 200

M10 39.2 400

M12 68.6 700

M16 16.8 1650

15 15
£ 2
Fe b
I i
=8 ]

W &L Connection To The Output Shaft

FEEmM Cautions:

1. TEAbH ERERAES. BRER, BER D EMEINT KHAmaTE.
When assemble a coupling,pully,etc. onto the output shaft,make sure that excessive axial load
not be given to the output shaft.

2. EPERREHEAN, LR iR RN EEIIRE .
In case of strongly hitting the shaft with a hammer, the shaft inlet or the inside of the reducer
may be damaged,therefore it shall be prohibited.

3. DEMBORSNMAISENARANLE, TRESHIRERE, TEMERSE
H. [f the shaft or key of a coupling assembled is loosed,it may cause carbonization,so be
careful when assembling.

4, REBOHREN, BEMEERISREREER.
For assembling of a coupling,fix the key with a set bolt.

5. EEREFEDERSHL . Please adjust shaft centre carefully in connecting.




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18

